S&P – OE
Option expiration has long been a mystery to many traders. There have been some theories about stocks being bearish on option expiration, but the close to close stats are actually 52% higher. If you look at the difference between the close and the open, the S&P has closed lower than the open about 54% of the time. There certainly is nothing special about any of these stats.

This is where you have to look inside the day’s action to see what is really going on during option expiration. Option expiration is the 3rd Friday of each month. Relative to the previous close and the open of that day, the close is pretty neutral. However, during the first hour of the day, there is a whole different story being told. Below are the stats that show the market movement starting at the open. Each bar represents 5-minutes of market action.

As you can see, the market immediately moves down and continues to move down for about the first hour of trading (12 bars). It begins to slow down after that as you can see from the stagnation in the average close lower stats. The first bar, the market is down 65% of the time by an average of 1.31 points. By the time you get to bar 12, the average close down is 5.24 points, a difference of about 4.00 points between bar 1 and bar 12. However, the largest average close down is just over 6.00 points for the next 90-minutes. Accordingly, most of the move occurs in the first hour.

You will also notice that within the first 30-minutes, the market is down 73% of the time. The average move down is slightly larger than the average move higher. Generally, you are going to know within about 2 – 3 bars (15-minutes), whether the trade should be a winner or loser. If the market has moved up more than about 1.50 points, the probability of the market turning around seems to have decreased significantly.

I would also point your attention to the bar 30 stats. This is 2 ½ hours into the market session. The market is still down 76% of the time, but the average down is at 6.09 compared to 5.24 at the 1 hour mark. This shows the general stagnation.

Consequently, by the time you reach the end of the trading day, the S&P is only down from the open about 57% of the time, and 54% of the time in the DJ.

So how do you take advantage of this? There are a couple of different ways. The first would be to sell on the open and exit an hour later using a protective stop of between 2.00 – 3.00 points. This may increase if volatility during the month has been higher. The other is to start to trail your protective stop in and start to trail your stop. Once a trade gets to 4.00 points, I would not let it go to a loss. However, by the end of the day, if you can hang on, the average peak down is 10.00 points by the close. So even though you get a lag after the first hour, and even though the overall % the market is down by the close decreases, the trades that have moved down tend to continue their move down towards the close.

